
Consider triangles formed by lines

passing through the paint (8 , 4) , the craxis
and the y-axis . Find the dimensions that minimise

area ,
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y - 4 = m( - 8)
- 4 =

mi - 8m

y= 0
,
- 4 = m(x - 8) = mil=

-4 + 8m

x=
-E + 8

x =0
,
y - 4= - 8m =>) y = - 8m+4

A rece [7)oYo
Area=xy

== (+b) (om+4)
= (x(m(x-8) +4) = [ 32-64m-13)
= [x(mx

- 8m+ 4)
=- (64 - 64m -)



=Imx- 4 mx+2 = 32-31m- &
m

= mx-4m+2=--m2

* = O = O

-32+1 = 0
mic-4m+2 =

0
-32m2+ 8 = 0

(z)x - 4(z) +2
= 0

= 32m2=
- 8

me=
-(x+ 2+2 = 0

m =11
--x+ 4

= 0 2

-(x =
- 4 m

=

-I because

x = G line is sloping
downwards

(0,8) T
y- 4

=

. z(x- 8)
when < = 0 ,

y= g

when y= O,-xt
x = 16

8 = x
- 8

2
= 64


